Card #

Answer

6 .6 5
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2 .
3 isequivalent to 6.
Reasons will vary, but an example is: | know that they

are equivalent because if | use a common denominator
of 3, both fractions are two thirds.
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Less thanone-half:5 7 3

Greater than one-half: & 7 © 8 9




Card # Answer
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6
9 Answers will vary. Examples include:
® J+i+i=1
® B-p=t
® S+p=p
10 a)J< b)=¢)>d)=
11 | 2
5
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4 7 2 5
a)¥ b)io ¢)7 d)9
13 )
A and D. Both have a product of 5 -
14 | | |
« = | 1 id
35 2 8
4 0 3 8




Card # Answer
15 5 3
8 and 4 are equivalent
because the same area
of the whole is shaded
in. (Explanations may
vary.)
16 5 2 | 10 5
298 w5t St old a2 73
17 Divide: 42 = 4 to make 10R2. The remainder of 2
remains as a fraction with a denominator of 4. So the
.
answer is |OW
18
d+t4i=t o |
19 5 full pieces are needed. Diagrams will vary.
20 3 3
F+3=79 f=q=7%
3 3
d+7=79 f=g=1
21 a) |
2

4 32
b) Answers will vary. Examples include: 8 & ©




Card # Answer
22 1
Answers will vary. One example is: “I’d rather have 3 of
an ice cream cone because it is a bigger part.”
23 Answers will vary.
24

10 2
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